Maths

Solve quadratic graphs =0, = a
and =ax+b
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Plot quadratic equations

1. The graphs show y =2x? —3x+1 Use the graph to find estimates for the
A solutions of:
a)2x*—3x+1=0

b)2x?—-3x+1=2
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Plot quadratic equations

2. The graphs show y = 5 — 2x? Use the graph to find estimates for the
A solutions of:
a)5—2x2=0

b)5—2x?= -3
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Plot quadratic equations

3. The graphs show y =3x?> +10x + 5
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Use the graph to find estimates for the
solutions of:
a)3x2+10x+5=0

b) 3x%2+ 10x +5 =5x + 10

c)3x%?+10x +5= -5
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Answers
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Plot quadratic equations

1. The graphs show y = 2x? —3x + 1 Use the graph to find estimates for the
3

N solutions of

:: a)2x?—3x+1=0

> x=05 x=1
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3 b) 2x?—3x+1=2

x=-0.3 x=1.8
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05 c)2x2—3x+1=17

-1 x=—0.2 x=1.7
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Plot quadratic equations

2. The graphs show y = 5 — 2x?
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Use the graph to find estimates for the
solutions of
a)5—2x%>=0

x=-—16 x=1.6
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Plot quadratic equations

3. The graphs show y =3x?+10x +5 Use the graph to find estimates for the
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AN solutions of
a)3x2+10x+5=0

x=-2.7 x=-0.6
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= b) 3x2 4+ 10x + 5 = 5x + 10
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c) 3x>+10x +5 = -5

no solutions
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